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System Testing

Brute Force Testing

ID testing result bug issue ID testing result bug issue
2nd testing fail O| 7 & 2nd testing = pass K| T 1 2l
BFT-17 fail >> fail VMP-167 BFT-43 pass >> pass VMP-165
BFT-37 pass >> fail VMP-168 BFT-48 fail >> pass VMP-166
BFT-40 fail >> fail VMP-169




System Testing

Brute Force Testing
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System Testing

Brute Force Testing
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System Testing

Brute Force Testing
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System Testing

Brute Force Testing
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System Testing

Category Partitioning Testing

1st testing 2nd testing ID 1st testing 2nd testing
CPT-1 pass pass CPT-21 fail pass
CPT-2 fail pass CPT-22 fail pass
CPT-3 pass pass CPT-23 blocked
CPT-4 fail pass CPT-24 blocked
CPT-5 pass pass CPT-25 pass pass
CPT-6 pass pass CPT-26 pass pass
CPT-7 CPT-27 pass pass
CPT-8 pass pass CPT-28 pass pass
CPT-9 fail pass CPT-29 blocked
CPT-10 fail pass CPT-30 blocked
CPT-11 pass pass CPT-31 pass pass
CPT-12 pass pass CPT-32 pass pass
CPT-13 pass pass CPT-33 pass pass
CPT-14 pass pass CPT-34 fail pass
CPT-15 pass pass CPT-35 blocked




System Testing

Category Partitioning Testing
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Code Smeli

Bad practice Warnings

id
(1 .getText().eguals(""))){

- Bad practice Warnings

Dir. Line Review
. 188 send() {
AdminFrame | 247 == O|Lt =1 Tt equlas) AFE HE System.out.printin( . .toString())
Message 60-73
CheckStock | 215-221 4+ 0lBC] HUM YIS ARX AY Y LI 8 L L
NotifyVMslnfo 329-364 t1.start()
RespondSell 274-277

Thread t2 = Mail(
t2.start()

AdminFrame, Message, VM ClassesOll CH3510] £I9} 20| =g




Code Smeli

Performance Warnings

Al 2=,

- Performance Warnings

Dir. Line Review tempD[B] = Double.parseDouble(tempS[B])
’ tempD[1] = Dou parseDouble(tempS[1])
1 markID (t—:-muS[ 1)
EEEE— . showVMFrame ( VM( .get(8).getSrc_1id() ,markID, tempD))
12 emove )
VM E— ALEIX| B4 field variable X| 9& 22 A enovel :
. . . | A |
2% RecieveMail, StartDialog, VM ClassesOll CH5H0] 9|2t Z0| =3 &
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Code Smeli

PMD

% 251 7H2] Warning £ U204 Of2fol= B R% Review £ H2|d 5.

Dir. Line Review
AdminFrame
CardListFrame
VM . AMESHA| & Import £ X 2E ZHE HE
VMFrame
VMProject
Message 21,24 AEBHX| % £ Local Variable X| 25 212 HE
VM 399 AME3IX| g Local Variable X 2& 22 HE
DrinkPanel 117 Switch 20i= default 7} 8l A2 HHSHE| Y&
VM 102 Switch 2= default 7t §le 22 HESHA| B&
Item o BFL o . = rloL o
M - ME8HA| &= Private Field £ X| 2= HE 2%
VMProject 15 AH83IX| 2= Private Method & X| 2= 22 #F
VM 277 void 2| method MM return TS AtH|
VM 281 void # 2| method Ol M return 42 AHH|
VM 279 M-&BLX| 2= method 0| X = HE

ImageIcon(

it+){
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[i].getName()
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Code Smeli

Code Smell (Blocker)

Code Smell (Blocker)

Dir. Line Review
AdminDialog_| 16 219) TN HABE parent= A H2T} AU,
AdminFrame 29 -> O O8INEH HeHE o= HEH
CardDialog 7
CodeDialog 15 W H2 parent 2 87 & 22 Component W field B
DrinkDialog 10 parent 2} ZX| 22 HY s{ofE
PaymentDialog 12
StartDialog 16
VMFrame 14
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Code Smeli

Code Smell (Critical)

(division){

( i i< i+4)1{
Item( [i].getName() [i].getPrice()

i++){
Ttem( [i+7].getName() [i+7].getPrice()

Code Smell(Critical)

i++){
Dir. Line Review Item( [i+13].getName() [i+13].getPrice()

VM 86-101 | Switch B2 AL2E O default case & F7}8l= HE HE

i++){
Ttem( [i].getName() [i].getPrice()




Code Smeli

Code Smell (Major)
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JUnit

Admin, Card, Code, Drink Class, Item

@ Admin
- getContact() &=/ HAE E|X| RS

Assertions.assertEquals(ad.editContact(

Assertions.assertEquals(ad.getContact()

-> getContact() S EHIAE 3= & F7}

@® Card @® Item

- getBalance() &7t B|AE X &2 - editName(String) =0 A name 2| Z 0|7} 100 EC} 7! 0§ 2|
U2 E HAEDSI= test case 7F 91 2. F715t= AO| £

.setBalance( )

-> LASX| g2 IFR0|2HM If2 XM & AHH|E
Assertions.assertEquals(cd.getBalance() ) = Hxl 8 =M & SAd

-> getBalance() € HIA® &&= & F7t

@ Code, Drink, Item




JUnit

VM

® VM

0H>|
mlo

- VM(int, double[]) ‘44 Xt} VM(int, int, double[]) MMXI7F AN 2L AFEEX| Y= XS 0|2H AHF|SHE 240
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- VMO A requestChangeName & EH|IAE

@Test
checkRequestChangeName(){
Assertions.assertEquals( .requestChangeName(
Assertions.assertEquals( .requestChangePrice(

}

(@IES
checkMailReceive(){
Assertions.assertEquals( .mailRecieve( Message(

.getOtherVM( )

> BIAR EIX| B #4509 HAY AO|A F7} (AADE Y HE)
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.add(new Message( )i

.add( Message(
Assertions.assertEquals( .receiveRequest(),2)

Assertions.assertEquals( .receiveRequest(),8)

checkRequestPrepay(){
Assertions.assertEquals( .requestPrepay(

}
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JUnit

VM

® VM
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- VM(int, double[]) ‘44 Xt} VM(int, int, double[]) MMXI7F AN 2L AFEEX| Y= XS 0|2H AHF|SHE 240
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o 2R3 20|& e+=0| HAE =X &5

9T

- VMO A requestChangeName & EH|IAE

@Test
checkRequestChangeName(){
Assertions.assertEquals( .requestChangeName(
Assertions.assertEquals( .requestChangePrice(

}

(@IES
checkMailReceive(){
Assertions.assertEquals( .mailRecieve( Message(

.getOtherVM( )

> BIAR EIX| B #4509 HAY AO|A F7} (AADE Y HE)

- $4-50| BlAHO| EXIGH HAE HO|AT HES Y 2y

.add(new Message( )i

.add( Message(
Assertions.assertEquals( .receiveRequest(),2)

Assertions.assertEquals( .receiveRequest(),8)

checkRequestPrepay(){
Assertions.assertEquals( .requestPrepay(

}

-> HIAQY EIX| @= RESO HAY HO|2 FIH (223E LRI HE)




JUnit

Frame, Panel Classes

® Ul

- Frame, Panel 2212 52| 42, Interface Layer & Ul 2= LICt
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Thank you.

Thank you for coming today.




